
solver

int nof_var
int nof_clauses
vec_p* clauses

vec_p

int el
int index
void ** ptr (clause **)

# clausole

(clause *) clause

bool learnt
int size
float activity
lit * lits

Nota: 
//letterali.h
..
typedef int lit;
..

# letterali

Strutture dati: schema generale



Strutture dati: un esempio (1)

Formula CNF:
(x1 v – x2)Λ (x2 v x3) Λ (x1 v -x4 v x2)

File DIMACS:
c
p cnf 4 3
1 -2 0
2 3 0
1 -4 2 0 



solver

nof_var = 4
nof_clauses = 3
vec_p* clauses

vec_p

el = 3
index = 3
void ** ptr (clause **)

# clausole

(clause *)

clause

learnt = FALSE
size = 2
activity = 0.0
lit * lits

# letterali

Strutture dati: un esempio (2)
Formula CNF:
(x1 v – x2) Λ (x2 v x3) Λ (x1 v -x4 v x2)

1 -2

clause

learnt = FALSE
size = 2
activity = 0.0
lit * lits

# letterali

2 3
clause

learnt = FALSE
size = 3
activity = 0.0
lit * lits

# letterali

1 -4 2

(clause *)

(clause *)


